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EEE RIEHEER

FE A (FikE) 13,170,000

=K I R4 (FetkE) 12,116,000

THA (D) R4 8/30~R5 1/16

AfL(EREHRSE) BREEICKD(EEA B)
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& FLER 100.00%

ZEH o ANBSmMES T M;g*s(mag) E

& | %A | ) Pl A 13,170,000
(M) =FIEH TH R
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ZF HERERIE () T 13,170,000
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AFLEHAR ST YN
ITEEAXEIEBEOELH | THBRMABAYKBRRISE
TEXIEERIGFT THHEERI=THi#hA
EEES T KRR
T EH1E (FRiRE) 18,036,000
IIE I PREAE (FidkZE) 16,412,000
THA(H%D) R4 8/31~R5 2/28
AfL(IEREHSE) EZ EE (LD (T ARA)
RE-MEETERS)
& FLER 91.00%
ZEH o ANBSmMES T M;g*s(mag) E
FNTEE ) TH# iR
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(%) AR L7515 TH iR
(k%) B LA T R
e BRERIE R T 18,036,000
% BHERESRTI XK T 18,036,000
£ | B |FH BRI G T 16,412,000
(F)\K#8 T 17,800,000
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ARLEHAK ERBEALL
IEEXFEEDOLTF |[ER/\BEYVERKR (F2IX)IHE
TEXRIEERIGAT THHRFRE LA
S T KRR

FE A (FikE) 8,929,000

=K I R4 (FtkE) 8,125,000

THA (%) R4 8/24~R5 1/27
AfL(FEREHRS) ERaE#EIZLE(EARB)

RiE-MR(EEEHBRF)

FEALE 91.00%

ZEH o AHSMESE Ao [T RE B

SEAL | (BR) SRTATHE TH 8,125,000

(B)¥zzI1% T 1.8

(B)BHEIBEE T iR

% FEmER (%) T 8,125,000

KATNEEER (¥F) T KH

E (%) B4 T 8,900,000

(BR) BT BRI XM T iR
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AFLEHAR S YN

IBEXIIEEDELEI |REMRGMFTEEERRAETERRT

TEXRIEERIGAT THRHRFREHA

S BMOKER

FE A (FikE) 4,089,000

B HIBREHE (FiikE) -

THA (D) R4 8/24~R5 3/10

AfL(FEREHRS) BREEIZKD(RR - HFHLER)

RE-MEETERS)

EFLE 92.93%

ZEH o ANBSmMES T M;g*s(mag) E
E FAMFE R WOXE il= 4,670,000 B

TR () WO E KR il 6,500,000 i#E
E #)HTXaOXE il= 4,200,000 iR
i A E (%) L O & %P il 4,300,000 IR

£ | &4 |EREME ) WO E XA A 4,100,000 3,800,000
% EERAERG () L0X# (iT]=i 4,280,000 IR
& (%) /8R3lLOXE TE§ 4,280,000 2B




